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The rectifier circuit diagram is shown in Figure 1. 
To achieve the half-wave rectification, the load 
resistance is given as

	 R Lo r~= � (1)

from [1]. Under this condition, we recall the RF input 
voltage and current
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from [2]. We also recall the general PQ-to-RX translator
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from [3]. Substituting (1), (2), (3), and Ohm’s law 
V R Io o o=  into (4), we obtain
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The bottom row of (5) finds .X L22 ~  Therefore, 
the correct answer to last month’s quiz is (d). The 
derived formula (5) is indispensable when we apply 
the rectifier to RF power electronics in good imped-
ance matching.
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Figure 1. The single-series diode rectifier.
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